2Ead EEEA3E T " HEETVE(aE) ) T K E
G0 B 13 110 29 p (RHT)L = [0 pE-T = 2p
RoE b E R AR
R TRy
I8 =X P
P me r % wp ¥
x
[ | 09:30-10:00 1 YRS EEE
N1, TIIEE SR | 2 R SR 14w
2 | 10:00-10:30 o g
LEA A B
:30-10: = 20 )
3| 10:30-10:82 | agems |G 0T
d 113 & ~ E W54 i
9010, BEigd (i | JBELFER B
4| 10:32-10:37 ) AN
(4 g ) o
5 | 10:37-10:40 | AP AERT |iBAGGRERT -
-ﬁ‘?‘j—?] = _E""’;‘f; SR
6 | 10:40-10:45 | < gnE g | MO R FERE
L EmagniMe | ZFEETEReG L
T 10:45-10:48 | 5
8 | 10:45-10:50 S LR ERTA
FpF 4L E o (6 )
L =+ i
113 & » g |27 DAL
TR A A
0 | 11:00-11:50 | m& % Ea(ga | o AL
R 5 T 4. AB4E Ay &
ks 5.2 % I W
6. 9 9 F 23 HHF
(5~ 484 iF)
10| 11:50-12:00 B | R




PR E RS X% (6
113 &# » g HEpa | L Pe g obbo F] i g
=% E (o 2. H ¥ e
£omLEm) |3 Mrowdairz
WEHF(FPER |4 25
®) S
6. /'{If”ﬁ L A2
11 09:30-12:00 1. % F &y H
2. 2P REE ERFG T
o
113 & » FHEEFH |3, p+ i
B % #ERE 4 0 s
(3 HBH) 5.1 LA A
6. 4H7L Py B
7.2 %} ®
8.9 4+ 23 ¥
12:00 e




